Name: _____________________           HILLEL ACADEMY HIGH
Date: _____________                        MATHEMATICS DEPARTMENT

IB PRIOR KNOWLEDGE REVIEW
Complete the following in your notebook showing all work! 
1. Find the numbers of significant figures in the following measurements:
a. 4035 km _______________
b. 2.0016mm _______________
c. 300cm ________________
d. 56004 Kg ______________
e. 0.001600 mm _______________


2. Round the following values to the number of significant figures given:
a. 0.347 (2 s.f.)
b. 45627 (4 s.f.)
c. 0.4523 (2 s.f.) 

3. Solve for x:
a. 
b.  (Graph Solution)

4. Solve  the equation:
a. 

b. 

c. The factors of the function  are 

i. Determine the values of  a, c and k
ii. Find the x – intercepts for the graph y = f(x)
iii. Find the equation for the line of symmetry 
iv. Find the minimum value of f(x)




5. 
                      [image: ]

6. 
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7. 
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through the point P(a, b) on the Cartesian plane and cutting B
the x—axis and y—axis at A and B respectively. Pla, b)
If LZOAB = 0, find the area of AOAB in terms of a, b and 0 . .
O A
9.  Find the area of AABC for the given diagram. C
30°, | \\9 cm
I
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Solution of Triangles - CHAPTER 16
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[2 marks]
4. Find, correct to the nearest degree, the largest angle in a triangle with sides of length
1lcm, 12cm and 13cm.
[2 marks]
5. The bearing of D from X is N65°W and from Y it is N42°W. The point D is 50 km from
the line joining XY and in a direction perpendicular to the line XY.
(a)  Draw the diagram displaying the information given.
(b)  Find the distance from X to Y.
[6 marks]
6. A triangle ABC rests on a horizontal plane with a third

point X vertically above the point B.
Find the length of CX.

[3 marks]
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gx+y =4
(a)  are perpendicular.
(b) have no real solution.

5. A triangle ABC is drawn on the set of axis as shown.

The slope of BX is —% and BX LAC.

i. Find the equation of
(@ BX b)  AC
ii. Find the coordinates of X.

iii.  Find the area of the triangle ABC.

6. OABC is a parallelogram as shown on the set of axes.

i. Find the coordinates of B.
i, Find the midpoint of AC and OB.

[4 marks]

A(-30)

[2 + 2+ 2+ 2 marks]

y C(b,c) B
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6. A ship leaves Oldport and heads NW. After covering a distance of 16 km it heads in a

10.

direction of N68°22'W travelling a distance of 22 km where it drops anchor. Find the
ship’s distance and bearing from Oldport after dropping anchor.

From two positions 400 m apart on a straight road, running in a northerly direction, the
bearings of a tree are N36°40'E and E33°22'S. What is the shortest distance from the tree
to the road?

A lamp post leaning away from the sun and at 6° from the vertical, casts a shadow 12 m
long when the sun’s angle of elevation is 44°. Assuming that the level of the ground where
the pole is situated is horizontal, find its length.

From a window, 29.6 m above the ground, the angle of elevation of the top of a building is
42°, while the angle of depression to the foot of the building is 32°. Find the height of the
building.

Two towns P and Q are 50 km apart, with P due west of Q. The bearing of a station from

town P is 040°T while the bearing of the station from town Q is 300°T. How far is the
station from town P?
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(b)  The circle shown alongside is defined by the relation
K24+y2-11x-10y+24 = 0
The circle cuts the y-axis at A and B. Find
the distance from A to B.

A bush walker walks due east for 5.0 km from her campsite. She then walks 12 km due
north. In what direction and how far would she need to walk to return to her campsite?

Consider the cuboid shown where AB =4 ¢cm, BC = 6 cm and BF =5 cm.

Give answers to one decimal place. A D
(2)  Find the length of o —
i [EGL B T

ii.  [AG].
(b)  Find the angle
i ABD. E H

ABH.

The points A(-2,-1) and B(3, 2) are shown on
the set of axes alongside.

(a) Find

i, themid-point of [AB]. 5 -
ii.  thelength, AB. x £
()  Find

i the equation of the straight line through A and B.
the equation of the line perpendicular to [AB] and passing through O.
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